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im 0.13 0.17 0.09 0.13 0.12 0.15 0.16 0.16 0.15 0.15 0.17
50cm 0.23 0.29 0.15 0.19
237 B ZDfth BAZEEADYR—L 9A16H —  |[EE%] &L
im 0.21 0.27 0.15 0.20
50cm 0.15 0.17 0.10 0.12 0.18 0.19 0.21 0.14 0.15 0.17 0.22
238 BAm | REME-RELS— |BAmE— REE 9A16H o
im 0.15 0.17 0.11 0.13 0.17 0.19 0.21 0.14 0.16 0.17 0.22
50cm 0.11 0.12 0.10 0.11 0.14 0.16 0.14 0.14 0.15 0.15 0.14
239 BAm | REME-RELLA— |BAME - REE 9A168 o
im 0.11 0.12 0.11 0.10 0.14 0.16 0.13 0.14 0.14 0.14 0.14
240 B Z0fith BUVIFEVAK (1470 A0) 9A168 | 50cm 0.15 0.19 — [EM I EES] £L
241 B WREREYST | BEREREIST 98168 | 50cm 0.16 0.23 0.10 0.13 — |[EE%] #®L
242 B WMRERREIST | HhEREIST 98168 | 50cm 0.14 0.19 0.09 0.12 0.11 0.12 0.12 0.10 0.13 0.12 0.13 [e)
243 B WRERREIST |[THADREISD 9H16H | 50cm 0.16 0.21 0.14 0.17 0.17 0.17 0.16 0.19 0.19 0.18 0.19 [e)
244 B WMEREREYST  |LoShREYST 9H16H | 50cm 0.18 0.25 0.10 0.13 0.18 0.12 0.13 0.14 0.21 0.16 0.17 [e)
245 B WEREBIREYST  |ITTITCREYST 9A16H | 50cm 0.19 0.29 0.13 0.21 — |[EE%F] #L
50cm 0.14 0.17 0.12 0.13 0.13 0.16 0.15 0.15 0.14 0.15 0.17
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246 Bl ZDith DIFHE 9A16R O SEOFo8178I-5HE
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253 | EEEH Z0k EACU-LEE 9H18H o Etrgﬁ][ﬁ%] BAHCHEE, FEXFE LU I—FEVEL
im 0.17 0.24 0.22 0.35 0.13 0.14 0.15 0.13 0.14 0.14 0.19
50cm 0.16 0.25 0.10 0.15 0.13 0.13 0.13 0.13 0.14 0.13 0.16
254 | EEH 204t A HEEE 0B 18H o [giimj][@ri%] BACUOLRE. BEXFE L I—FEUL
im 0.17 0.24 0.10 0.16 0.13 0.14 0.15 0.13 0.14 0.14 0.19
50cm 0.11 0.14 0.15 0.20
255 | EEERHT ZDith HBH< 9A18H —  |[EEH] &L
im 0.10 0.16 0.15 0.20
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263 | ZKIRET ot %Elﬂézm%ﬁrsz%tya—(::l::v 98128 | 50cm 016| 017 oi0| o012 —  |EE%] ®L
264 K IRET WRRREIST |ZWNREISD 98128 | 50cm 0.09 0.10 0.08 0.09 —  |[EE%] ®L
50cm 0.12 0.12 0.16 0.14
265 | HRAHET Z0Ht ENBER 9A18H — |[EE%F] #L
im 0.12 0.12 0.15 0.16

3/4




BERREMSHRE=SJ VAT (REBUERFE7E) HR

(Fri26F9A12A ~F 265 9H 24 AXNE)

RF K EE M A (RGTHRYD)
BERKEAERB(RTFHID

O REFEFFABARR) X —BRLBEFEGHEAHR)

— e REBRERT
REBS ZEFE 4R B SRR EE(u Sv/h)
No. | T . —— BE | soom | (ean) P BEF(51 55 (FRRUMR) & FH1E zemz .
. Erpics
or
BIE BIE O} 24k FiE
im HEHER WEHR| i @ ® @ ® FiiE | AEER
50cm 0.10 0.10 0.09 0.09
266 | AHAHET Z0fth ENBERESHR—L 9A18H —  |[EE#] #L
im 0.10 0.11 0.09 0.10
267 1= ET MREREYIST |(WRREYST 9H18H | 50cm 0.13 0.15 0.11 0.10 0.14 0.14 0.14 0.15 0.19 0.15 017 — |[EE%] HEE
50cm 0.11 0.09 0.09 0.08 0.08 0.09 0.09 0.09
268 | AHAHET ZDfth REXFELL A1 9A18H O |FHAEDO. MIEAEREEL
im 0.11 0.08 0.08 0.07 0.09 0.09 0.09 0.08
50cm 0.09 0.11 0.09 0.09 0.09 0.10 0.11 0.07 0.09 0.09 0.11
N BT E A2 B (£50cm D &I E
269 RESHT Z0ft HoHL—LBAR 9A198 — Egz] n=s
im 0.09 0.09 0.09 0.10 0.11 0.07 0.09 0.09
270 RESHT WEREREYST |BHDNREIST 98198 | 50cm 0.10 0.09 0.09 0.08 0.08 0.09 0.09 0.09 O |FHRAZDLO. FIEHTEREL
271 RESHT WEREREYST |RENREIST 98198 | 50cm 0.08 0.07 0.08 0.08 0.08 0.07 0.09 0.08 FHRMBED- ., FIEATREREL
272 bty WERERREYST |BREIST 9A198 | 50cm 0.12 0.14 0.10 0.11 0.15 0.15 0.14 0.14 0.14 0.14 0.16 FHhFELHRE (BT AREATEDE) B —HER
273 iy WREREIST |ERY#E 9H198 | 50cm 0.09 0.09 0.09 0.09 0.09 0.07 0.08 0.08 0.08 0.08 0.08 le)
274 iy WRERREIST |[EEHHE 9A198 | 50cm 0.10 0.10 0.06 0.06 0.07 0.07 0.07 0.08 0.07 0.07 0.08 le)
50cm 0.11 0.11 0.09 0.08 0.09 0.08 0.08 0.09 0.09 0.09 0.09
275 fEHET Z0ft TEDOCE 9A198 o
im 0.09 0.11 0.09 0.08 0.07 0.09 0.09 0.08 0.09 0.08 0.09
50cm 0.12 0.14 0.10 0.11 0.15 0.15 0.14 0.14 0.14 0.14 0.16
276 AT MR TE S lﬁg&b%k%#g(fﬁmﬁﬁﬁﬁéréﬁ 9A198 BRESSTER—HEH
im 0.13 0.14 0.10 0.11 0.14 0.15 0.14 0.14 0.13 0.14 0.16
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